# Reconstruction of Green's function for multiplicative Sturm-Liouville problem 

Emrah Yilmaz ${ }^{\text {a }}$, Tuba Gulsen ${ }^{\text {a }}$, Sertac Goktas ${ }^{\text {b }}$<br>${ }^{a}$ Department of Mathematics, Faculty of Science, Firat University, 23119, Elazlg, Türkiye<br>${ }^{b}$ Department of Mathematics, Faculty of Science and Letters, Mersin University, 33343, Mersin, Tiurkiye


#### Abstract

We construct multiplicative Green's (or *Green's) function for *Sturm-Liouville (*SL) equation. The basic properties of *Green's function are given. Then, *SL equation is evaluated by using *Green's function. Effectiveness of Green's function in *case will thus be seen by some examples.


## 1. Introduction

In mathematical physics, Green's function creates a highly effective method to solve initial or boundary value problems (IVB's-BVP's). Green's functions are devices to solve crucial ordinary and partial differential equations which may be unsolvable by other techniques. To obtain a solution for IVP or BVP, we need a mapping whose kernel is Green's function. This function is an impulse reaction to a nonhomogeneous linear differential operator described on a domain with customized initial, boundary conditions. It is also used in quantum field theory, aerodynamics, electrodynamics, aeroacoustics, seismology. There are many studies in literature on Green's function in classical case [1, 2, 4, 10, 12, 21, 23, 24, 27]. It is important to generate Green's function for such problems. However, it was seen that Green's function was not defined and its properties were not given in *calculus. Before examining the Green's function and SL problem in *case, let's express some basic concepts and theorems for *calculus. First, let's express development process of *calculus.
*calculus was introduced by Grossman and Katz [16], [17] in 1967 as an alternative to Newtonian calculus. This type of calculus is also known as non-Newtonian because of its difference from classical calculus of Newton and Leibniz. *calculus is a beneficial supplement to classical calculus in that it is adapted to situations including exponential functions in same case that usual calculus is adapted to situations including linear functions. *calculus moves roles of substraction, addition to division, multiplication. There are actually many reasons to study *calculus. It improves the work of additive calculations indirectly. Problems that are difficult to solve in classical case can be solved with incredible ease in here. Every property in Newtonian case can be defined in *calculus within certain rules. The importance of this theory should be emphasized in terms of applications in physics and engineering.

[^0]Many events in nature change exponentially. For example: populations of countries, magnitude of an earthquake [8] are events that behave in this manner. For this reason, using *case instead of classical calculus allows a better physical evaluation of these type events. It also gives better results than usual case in many fields such as finance, economics, biology and demography. A very limited number of studies have been conducted on this calculus until the beginning of the 2000s. Recently, various studies have been carried out on it and quality and effective results have been obtained (see [6, 7, 9, 11, 13, 18, 25, 26, 28]).

Definition 1.1. [5] Let $f: A \subset \mathbb{R} \rightarrow \mathbb{R}$ be differentiable in usual case where $f(t)>0$ for all $t$. If the below limit exists and positive

$$
\begin{equation*}
f^{*}(t)=\lim _{h \rightarrow 0}\left[\frac{f(t+h)}{f(t)}\right]^{\frac{1}{h}} \tag{1.1}
\end{equation*}
$$

$f^{*}(t)$ is denominated as *derivative of $f$ at $t$.
Lemma 1.2. [5] Let $f: A \rightarrow \mathbb{R}$ be positive and usual differentiable at $t$. Then, there is a relation between classical and *derivatives as follows:

$$
f^{*}(t)=e^{(\ln o f)^{\prime}(t)}
$$

Repeating this procedure $n$ times, it can be obtained the relation between the $n-t h$ order classical derivative and $n$-th *derivative as

$$
f^{*(n)}(t)=e^{(\ln o f)^{(n)}(t)}
$$

Theorem 1.3. [5] Let $f, h$ be *differentiable and $p$ be usual differentiable at $t$. The below expressions are provided for *derivative.

$$
\begin{aligned}
& \text { i. }(c f)^{*}(t)=f^{*}(t), c \in \mathbb{R}^{+}, \\
& \text {ii. }(f h)^{*}(t)=f^{*}(t) h^{*}(t), \\
& \text { iii. }(f / h)^{*}(t)=f^{*}(t) / h^{*}(t) \\
& \text { iv. }\left(f^{p}\right)^{*}(t)=f^{*}(t)^{p(t)} f(t)^{p^{\prime}(t),} \\
& \text { v. }(f o p)^{*}(t)=f^{*}(p(t))^{p^{\prime}(t)}, \\
& \text { vi. }(f+h)^{*}(t)=f^{*}(t) \frac{f(t)}{f(t)+h(t)} h^{*}(t) \frac{h(t)}{f(t)+h(t)} \text {. }
\end{aligned}
$$

Definition 1.4. [5] Let $f$ be positive, bounded on [ $a, b]$ for $-\infty<a<b<\infty$. Then, $\int_{a}^{b} f(x)^{d x}$ is *integral of $f$ on $[a, b]$. If $f$ is positive, Riemann integrable on $[a, b]$, it is *integrable on $[a, b]$ where

$$
\int_{a}^{b} f(x)^{d x}=e^{\int_{a}^{b}(\ln o f)(x) d x}
$$

On the contrary, one can prove that

$$
\int_{a}^{b} f(x) d x=\ln \int_{a}^{b}\left(e^{f(x)}\right)^{d x}
$$

if $f$ is Riemann integrable on $[a, b]$.

Theorem 1.5. [5] Let $f, h$ be positive, bounded functions on [ $a, b$ ] where $-\infty<a<b<\infty$. If $f, h$ are *integrable on $[a, b]$, the below expressions hold:
i. $\int_{a}^{b}\left[f(x)^{p}\right]^{d x}=\left[\int_{a}^{b} f(x)^{d x}\right]^{p}, p \in \mathbb{R}$
ii. $\int_{a}^{b}[f(x) h(x)]^{d x}=\int_{a}^{b} f(x)^{d x} \int_{a}^{b} h(x)^{d x}$,
iii. $\int_{a}^{b}\left[\frac{f(x)}{h(x)}\right]^{d x}=\frac{\int_{a}^{b} f(x)^{d x}}{\int_{a}^{b} h(x)^{d x}}$
iv. $\int_{a}^{b} f(x)^{d x}=\int_{a}^{c} f(x)^{d x} \int_{c}^{b} f(x)^{d x}, a \leq c \leq b$.

Now let's explain how classical integration by parts method is expressed in *calculus.
Theorem 1.6. [5] Let $f:[a, b] \subset \mathbb{R} \rightarrow \mathbb{R}^{+}$be *integrable, $h:[a, b] \subset \mathbb{R} \rightarrow \mathbb{R}^{+}$be usual integrable. Then,

$$
\int_{a}^{b}\left[f^{*}(x)^{h(x)}\right]^{d x}=\frac{f(b)^{h(b)}}{f(a)^{h(a)}} \frac{1}{\int_{a}^{b}\left[f(x)^{h^{\prime}(x)}\right]^{d x}}
$$

This equality is known as *integration by parts method. We will use this formula frequently throughout our study.
The main focus of this study is to construct usual Green's function in *case for given problem. After we have firmly established this function in *case and examined its properties, we will apply it to SL problem in *case to test its effectiveness. Solving a *problem includes SL equation, which has a very important place in mathematical physics, with *Green's function will bring a new perspective to spectral theory. As it is known, SL equation is very important for mathematical physics in the classical case and many studies have been done on this subject from many angles [3], [14], [19], [20], [22], [29].

This study is arranged as follows: we consider a *SL problem in Section 2. Then, we prove again some important theorems related to its spectral properties in *calculus since we will look at the proofs from a different perspective. Using constructed problem, we generate *Green's function in Section 3. Eventually, we give fundamental features of this valuble function. In Section 4, we give a conclusion to sum up our study.

## 2. Some Spectral Properties of *Sturm-Liouville Problem

In this section, SL problem will be introduced in *calculus and some its spectral properties will be examined. This is necessary so that Green's function can be set up in *calculus for this problem. Let us consider below *homogeneous SL problem

$$
\begin{equation*}
\mathcal{L}(y)=\left(e^{-1} \odot y^{* *}\right) \oplus\left(e^{q(x)} \odot y\right)=e^{\lambda} \odot y, \quad t \in[a, b] \tag{2.1}
\end{equation*}
$$

with conditions

$$
\begin{align*}
& L_{1}(y)=\left(e^{\cos \alpha} \odot y(a)\right) \oplus\left(e^{\sin \alpha} \odot y^{*}(a)\right)=1  \tag{2.2}\\
& L_{2}(y)=\left(e^{\cos \beta} \odot y(b)\right) \oplus\left(e^{\sin \beta} \odot y^{*}(b)\right)=1 \tag{2.3}
\end{align*}
$$

where $q$ is real valued function on $[a, b] ; \alpha, \beta$ are arbitrary real constants [15]. In classical case, equation (2.1) is transformed into the following nonlinear equation. Actually, all results we will get are valid for this nonlinear equation. This shows influence of *calculus.

$$
\begin{equation*}
y^{\prime \prime} y-\left(y^{\prime}\right)^{2}+[(\lambda-q(t)) \ln y] y^{2}=0 \tag{2.4}
\end{equation*}
$$

The eigenfunctions of this equation coincide with the solutions of equation (2.1). Some spectral properties of the above problem will be made using the inner product on $L_{2}^{*}[a, b]$. For $\mathcal{L}(y)=e^{\lambda} \odot y, y \neq 1$ is called *eigenfunction of $\mathcal{L}$ and $\lambda$ is *eigenvalue of given problem. The non-homogeneous version of Eq. (2.1) is as follows.

$$
\begin{equation*}
\left(e^{-1} \odot y^{* *}\right) \oplus\left(e^{q(x)} \ominus e^{\lambda}\right) \odot y=e^{f(x)} \tag{2.5}
\end{equation*}
$$

For a better understanding of *theory, let's express *algebraic structures that we will encounter while constructing Green's function for *SL equation. Arithmetic operations created with exponential functions are called *algebraic operations. Let's show some properties of these operations with *arithmetic table for $f, h \in \mathbb{R}^{+}$.

$$
f \ominus h=\frac{f}{h}, \quad f \oplus h=f h, \quad f \odot h=f^{\ln h}=h^{\ln f} .
$$

These operations create some algebraic structures. If $\oplus: A \times A \rightarrow A$ is an operation where $A \neq \phi$ and $A \subset \mathbb{R}^{+}$, the algebraic structure $(A, \oplus)$ is called *group. Similarly, $(A, \oplus, \odot)$ is a *ring. This situation gives us the opportunity to use these processes easily and define different structures.
Lemma 2.1. $[15]{ }^{*} L_{2}[a, b]=\left\{f: \int_{a}^{b}[f(x) \odot f(x)]^{d x}<\infty\right\}$ is *inner product space with

$$
<,>_{*}:{ }^{*} L_{2}[a, b] \times{ }^{*} L_{2}[a, b] \rightarrow \mathbb{R}^{+}, \quad<f, h>_{*}=\int_{a}^{b}[f(x) \odot h(x)]^{d x},
$$

where $f, h \in{ }^{*} L_{2}[a, b]$ are positive. The proof can be easily demonstrated using the notion of *inner product.
Here, the theory will be built on this space.
Theorem 2.2. *SL operator $\mathcal{L}$ is formally self-adjoint on * $L_{2}[a, b]$.
Proof. By *inner product on ${ }^{*} L_{2}[a, b]$, we get

$$
\begin{equation*}
<L(y), z>_{*}=\int_{a}^{b}[L(y) \odot z]^{d x}=\int_{a}^{b}\left[\left(y^{* *}\right)^{-\ln z}\right]^{d x} \int_{a}^{b}\left[\left(y^{q(x)}\right)^{\ln z}\right]^{d x} \tag{2.6}
\end{equation*}
$$

Using *integration by parts method to first *integral on right side yields

$$
\int_{a}^{b}\left[\left(y^{* *}\right)^{-\ln z}\right]^{d x}=\frac{y^{*}(b)^{-\ln z(b)}}{y^{*}(a)^{-\ln z(a)}} \frac{1}{\int_{a}^{b}\left[y^{*}(x)^{-\frac{-z^{\prime}(x)}{z(x)}}\right]^{d x}}
$$

If *integration by parts method is used once again,

$$
\begin{equation*}
\int_{a}^{b}\left[\left(y^{* *}\right)^{-\ln z}\right]^{d x}=\frac{y^{*}(b)^{-\ln z(b)}}{y^{*}(a)^{-\ln z(a)}} \frac{y(a)^{-\ln z^{*}(a)}}{y(b)^{-\ln z^{*}(b)}} \int_{a}^{b}\left[y(x)^{-\ln z^{* *}(x)}\right]^{d x} \tag{2.7}
\end{equation*}
$$

If the expression (2.7) is substituted in (2.6), we get

$$
\begin{equation*}
<L(y), z>_{*}=\frac{y(b)^{\ln z^{*}(b)}}{y^{*}(b)^{\ln z(b)}} \frac{y^{*}(a)^{\ln z(a)}}{y(a)^{\ln z^{*}(a)}} \int_{a}^{b}\left[\left(z^{* *}\right)^{-\ln y}\left(z^{q(x)}\right)^{\ln y}\right]^{d x} . \tag{2.8}
\end{equation*}
$$

By the conditions (2.2),(2.3),

$$
<L(y), z>_{*}=<y, L(z)>_{*}
$$

Theorem 2.3. Eigenfunctions $y\left(x, \lambda_{1}\right), z\left(x, \lambda_{2}\right)$ of(2.1)-(2.3) related to distinct eigenvalues $\lambda_{1}$ and $\lambda_{2}$ are orthogonal.
Proof. Let $[y, z]_{x}=\left[y(x) \odot z^{*}(x)\right] \ominus\left[y^{*}(x) \odot z(x)\right]$. Thus, by definition of *derivative, we get

$$
\begin{equation*}
\left([y, z]_{x}\right)^{*}=\frac{\left(y^{* *}\right)^{-\ln z}\left(y^{q(x)}\right)^{\ln z}}{\left(z^{* *}\right)^{-\ln y}\left(z^{q(x)}\right)^{\ln y}} \tag{2.9}
\end{equation*}
$$

After some calculations

$$
\left([y, z]_{x}\right)^{*}=(y \odot z)^{\lambda_{1}-\lambda_{2}}
$$

If *integral is taken for both sides of the last equation and the conditions are taken into account, we get

$$
1=\int_{a}^{b}\left[(y \odot z)^{\lambda_{1}-\lambda_{2}}\right]^{d x}=\left[\int_{a}^{b}(y \odot z)^{d x}\right]^{\lambda_{1}-\lambda_{2}}
$$

Since $\lambda_{1} \neq \lambda_{2}$, it yields

$$
\int_{a}^{b}(y \odot z)^{d x}=1
$$

Theorem 2.4. Multiplicative Wronskian of any two solutions to the problem (2.1)-(2.3) is independent of $x$.
Proof. Let $y(x)$ and $z(x)$ be two solutions of (2.1)-(2.3). Since

$$
\frac{[y, z]_{x}(x)}{[y, z]_{x}(a)}=\frac{\langle L(y), z\rangle_{*}}{\left\langle y, L(z)>_{*}\right.}
$$

we get

$$
\begin{equation*}
\frac{[y, z]_{x}(x)}{[y, z]_{x}(a)}=\frac{\left\langle y^{\lambda}, z>_{*}\right.}{\left\langle y, z^{\lambda}>_{*}\right.}=1 \Rightarrow[y, z]_{x}(x)=[y, z]_{x}(a) \tag{2.10}
\end{equation*}
$$

Moreover, multiplicative Wronskian (*Wronskian) yields

$$
W_{m}(y, z)(x)=\left|\begin{array}{cc}
\ln y & \ln z \\
\ln y^{*} & \ln z^{*}
\end{array}\right|=\ln [y, z]_{x} .
$$

If this result is taken together with (2.10),

$$
W_{m}(y, z)(x)=e^{W_{m}(y, z)(a)}
$$

ensures that result is independent of $x$.
Theorem 2.5. Any two solutions of equation (2.1) are linearly dependent iff $W_{m}=0$.

Proof. Let $y(x), z(x)$ be two linearly dependent solutions of (2.1). There is at least a constant $c \neq 1$ such $y(x)=e^{c} \odot z(x)$. Based on this information, ${ }^{*}$ Wronskian is

$$
W_{m}(y, z)(x)=0
$$

Conversely, let's admit $W_{m}(y, z)(x)=0$. In this case, $y(x)=e^{c} \odot z(x)$ can be seen with an easy calculation. It completes the proof.

Lemma 2.6. All eigenvalues of (2.1)-(2.2) are geometrically simple.
Proof. Let $y(x), z(x)$ be eigenfunctions of (2.1)-(2.2) related to $\lambda$. By the condition (2.2), we get

$$
W_{m}(y, z)(a)=\ln y(a) \ln z^{*}(a)-\ln y^{*}(a) \ln z(a)=0 .
$$

It shows the linearly dependence of $y(x)$ and $z(x)$. It completes the proof.
Remark 2.7. Now, we need to give some explanation about obtaining eigenvalues and eigenfunctions of given problem. Let $\phi_{1}(\cdot, \lambda)$ and $\phi_{2}(\cdot, \lambda)$ be linearly independent solutions of $(2.1)$ which satisfy the condition

$$
\phi_{i}^{*(j-1)}(a, \lambda)=e^{\delta_{i j}}, i, j=1,2 .,
$$

where $\delta_{i j}$ is Kronecker delta in classical case. Thus, each solution of Eq. (2.1) will take the form below.

$$
y(x, \lambda)=\phi_{1}(x, \lambda)^{A_{1}} \phi_{2}(x, \lambda)^{A_{2}}
$$

where $A_{1}, A_{2}$ are constants independent of $x$. Here, if the solution of Eq. (2.1) satisfies conditions (2.2) and (2.3), it will be eigenfunction of the related problem. In other words, if one can find a non-trivial solution of

$$
\begin{aligned}
& A_{1} \ln L_{1}\left(\phi_{1}\right)+A_{2} \ln L_{1}\left(\phi_{2}\right)=0 \\
& A_{1} \ln L_{2}\left(\phi_{1}\right)+A_{2} \ln L_{2}\left(\phi_{2}\right)=0
\end{aligned}
$$

then, it will be eigenfunction. Thus, $\lambda$ is an eigenvalue of given problem iff

$$
\Delta_{m}(\lambda)=\left|\begin{array}{ll}
\ln L_{1}\left(\phi_{1}\right) & \ln L_{1}\left(\phi_{2}\right) \\
\ln L_{2}\left(\phi_{1}\right) & \ln L_{2}\left(\phi_{2}\right)
\end{array}\right|=0
$$

Here, $\Delta_{m}(\lambda)$ is characteristic equation related to (2.1)-(2.2) and zeros of $\Delta_{m}(\lambda)$ are eigenvalues of (2.1)-(2.2).
Theorem 2.8. All eigenvalues of (2.1)-(2.2) are simple zeros of $\Delta_{m}(\lambda)$.
Proof. Assume that $\theta_{1}(\cdot, \lambda), \theta_{2}(\cdot, \lambda)$ are given by following equalities

$$
\begin{align*}
& \theta_{1}(x, \lambda)=\left[L_{1}\left(\phi_{2}\right) \odot \phi_{1}(x, \lambda)\right] \ominus\left[L_{1}\left(\phi_{1}\right) \odot \phi_{2}(x, \lambda)\right],  \tag{2.11}\\
& \theta_{2}(x, \lambda)=\left[L_{2}\left(\phi_{2}\right) \odot \phi_{1}(x, \lambda)\right] \ominus\left[L_{2}\left(\phi_{1}\right) \odot \phi_{2}(x, \lambda)\right] . \tag{2.12}
\end{align*}
$$

According to this definition, it can be written as

$$
\theta_{1}(x, \lambda)=\frac{\left[\phi_{2}(a)^{\cos \alpha} \phi_{2}^{*}(a)^{\sin \alpha}\right]^{\ln \phi_{1}(x, \lambda)}}{\left[\phi_{1}(a)^{\cos \alpha} \phi_{1}^{*}(a)^{\sin \alpha}\right]^{\ln \phi_{2}(x, \lambda)}}, \text { and } \theta_{2}(x, \lambda)=\frac{\left[\phi_{2}(b)^{\cos \beta} \phi_{2}^{*}(b)^{\sin \beta}\right]^{\ln \phi_{1}(x, \lambda)}}{\left[\phi_{1}(b)^{\cos \beta} \phi_{1}^{*}(b)^{\sin \beta}\right]^{\ln \phi_{2}(x, \lambda)}}
$$

Consequently, below conditions are satisfied.

$$
\begin{align*}
& \theta_{1}(a, \lambda)=e^{\sin \alpha}, \quad \theta_{1}^{*}(a, \lambda)=e^{-\cos \alpha} \\
& \theta_{2}(b, \lambda)=e^{\sin \beta}, \quad \theta_{2}^{*}(b, \lambda)=e^{-\cos \beta} \tag{2.13}
\end{align*}
$$

On the other hand, if *Wronskian definition is used, we get

$$
\begin{equation*}
W_{m}\left(\theta_{1}(x, \lambda), \theta_{2}(x, \lambda)\right)=W_{m}\left(\phi_{1}(x, \lambda), \phi_{2}(x, \lambda)\right) \Delta_{m}(\lambda)=\Delta_{m}(\lambda) \tag{2.14}
\end{equation*}
$$

Now, let $\lambda_{0}$ be an eigenvalue of the problem (2.1)-(2.3). By (2.11) and (2.13), we get

$$
\begin{equation*}
\theta_{1}\left(x, \lambda_{0}\right)=\theta_{2}\left(x, \lambda_{0}\right)^{c_{1}} \tag{2.15}
\end{equation*}
$$

and

$$
\theta_{1}\left(b, \lambda_{0}\right)=\theta_{2}(b, \lambda)^{c_{1}}, \quad \theta_{1}^{*}\left(b, \lambda_{0}\right)=\theta_{2}^{*}(b, \lambda)^{c_{1}}
$$

By setting $y(x)=\theta_{1}(x, \lambda), z(x)=\theta_{1}\left(x, \lambda_{0}\right)$, we get

$$
\left(\lambda-\lambda_{0}\right) \int_{a}^{b} \ln \theta_{1}(x, \lambda)^{\ln \theta_{1}\left(x, \lambda_{0}\right)} d x=c_{1} \Delta_{m}(\lambda)
$$

Since $\Delta_{m}(\lambda)$ is *entire function of $\lambda$,

$$
\begin{equation*}
\Delta_{m}^{*}\left(\lambda_{0}\right)=\left(e^{\lim _{1 \rightarrow \lambda_{0}} \frac{\Delta_{m}(\lambda)}{\lambda-\lambda_{0}}}\right)^{\frac{1}{\Delta_{m}\left(\lambda_{0}\right)}}=\left(e^{\frac{1}{q_{1}} \int_{a}^{b} \ln ^{2} \theta_{1}\left(x, \lambda_{0}\right) d x}\right)^{\frac{1}{\Delta_{m\left(\lambda_{0}\right)}}} \neq 1 \tag{2.16}
\end{equation*}
$$

Hence, $\lambda_{0}$ is simple zero of $\Delta_{m}(\lambda)$.

## 3. Reconstruction of Green's Function for *SL Problem

In this section, *Green's function will be constructed for *SL problem which is not homogeneous and some of its properties will be given.

Theorem 3.1. Let's admit that $\lambda$ is not an eigenvalue of (2.1)- (2.3) and $\phi(\cdot, \lambda)$ satisfies the equation (2.5) and the conditions (2.2), (2.3). Then,

$$
\begin{equation*}
\phi(x, \lambda)=\int_{a}^{b}\left(G_{m}(x, t, \lambda) \odot e^{f(t)}\right)^{d t}, t \in[a, b] \tag{3.1}
\end{equation*}
$$

where $e^{f(t)} \in{ }^{*} L_{2}[a, b]$ and $G_{m}(x, t, \lambda)$ is *Green function for (2.1)-(2.3) defined by

$$
G_{m}(x, t, \lambda)=e^{\frac{-1}{\Delta_{m}(\lambda)}} \odot\left\{\begin{array}{ll}
\theta_{2}(x) \odot \theta_{1}(t), & a \leq t \leq x  \tag{3.2}\\
\theta_{1}(x) \odot \theta_{2}(t), & x<t \leq b
\end{array} .\right.
$$

Conversely, $\phi(\cdot, \lambda)$ defined by (3.1) satisfies equation (2.5) and conditions (2.2), (2.3). Furthermore, $G_{m}(x, t, \lambda)$ is unique. Here, $\theta_{1}$ and $\theta_{2}$ are linearly independent solutions of (2.1) which satisfy (2.2) and (2.3).

Proof. By (3.1),

$$
\begin{equation*}
\phi(x, \lambda)=\int_{a}^{b}\left(G_{m}(x, t, \lambda) \odot e^{f(t)}\right)^{d t}=e^{x} f(t) \ln G_{m}(x, t, \lambda) d t \int_{e^{x}}^{b} f(t) \ln G_{m}(x, t, \lambda) d t \tag{3.3}
\end{equation*}
$$

By definition of *Green's function,

$$
G_{m}(x, t, \lambda)=\left\{\begin{array}{cl}
\left(\theta_{2}(x)^{\ln \theta_{1}(t)}\right)^{\frac{-1}{\Delta_{m}(\lambda)}}, & a \leq t \leq x  \tag{3.4}\\
\left(\theta_{1}(x)^{\ln \theta_{2}(t)}\right)^{\frac{-1}{\Delta_{m}(\lambda)}}, & x<t \leq b
\end{array}\right.
$$

Considering (3.3) and (3.4) together, we get

$$
\begin{equation*}
\phi(x, \lambda)=\theta_{2}(x)^{-\int_{a}^{x} \frac{\ln \theta_{1}(t) f(t)}{\Delta_{m}(\lambda)} d t} \theta_{1}(x)^{-\int_{x}^{b} \frac{\ln \theta_{2}(t) f(t)}{\Delta_{m}(\lambda)} d t} \tag{3.5}
\end{equation*}
$$

Indeed, the particular solution of Eq. (2.5) by change of variables method in *case is as follows

$$
\begin{equation*}
\phi(x, \lambda)=\theta_{1}(x, \lambda)^{c_{1}(x)} \theta_{2}(x, \lambda)^{c_{2}(x)} \tag{3.6}
\end{equation*}
$$

where $c_{1}(x)$ and $c_{2}(x)$ are functions of $x$. If method is applied in *case, we get

$$
\begin{align*}
& \theta_{1}(x, \lambda)^{c_{1}^{\prime}(x)} \theta_{2}(x, \lambda)^{c_{2}^{\prime}(x)}=1  \tag{3.7}\\
& \theta_{1}^{*}(x, \lambda)^{c_{1}^{\prime}(x)} \theta_{2}^{*}(x, \lambda)^{c_{2}^{\prime}(x)}=e^{-f(x)}
\end{align*}
$$

If $c_{1}^{\prime}(x)$ and $c_{2}^{\prime}(x)$ are left alone here, it yields,

$$
\begin{equation*}
c_{1}^{\prime}(x)=\frac{f(x) \ln \theta_{2}}{\Delta_{m}(\lambda)}, \quad c_{2}^{\prime}(x)=-\frac{f(x) \ln \theta_{1}}{\Delta_{m}(\lambda)} . \tag{3.8}
\end{equation*}
$$

By some calculations

$$
\begin{equation*}
c_{1}(x)=c_{1}(b)-\int_{x}^{b} \frac{f(t) \ln \theta_{2}(t)}{\Delta_{m}(\lambda)} d t \tag{3.9}
\end{equation*}
$$

and

$$
\begin{equation*}
c_{2}(x)=c_{2}(a)-\int_{a}^{x} \frac{f(t) \ln \theta_{1}(t)}{\Delta_{m}(\lambda)} d t . \tag{3.10}
\end{equation*}
$$

Thus, general solution of Eq. (2.5) is

$$
\begin{equation*}
\phi(x, \lambda)=\theta_{1}(x, \lambda)^{c_{1}} \theta_{2}(x, \lambda)^{c_{2}} \theta_{1}(x, \lambda)^{-\int_{x}^{b} \frac{f(t) \ln \theta_{2}(t)}{\Delta_{m}(\lambda)} d t} \theta_{2}(x, \lambda)^{-\int_{a}^{x} \frac{f(t) \ln \theta_{1}(t)}{\Delta_{m}(\lambda)} d t} \tag{3.11}
\end{equation*}
$$

by (3.6) where $c_{1}, c_{2}$ are arbitrary constants. Now, let's determine these constants so that $\phi(x, \lambda)$ satisfies conditions (2.2), (2.3). By (2.2) and (3.11), we get

$$
\begin{equation*}
\phi(a, \lambda)=e^{-\sin \alpha}, \quad \phi^{*}(a, \lambda)=e^{\cos \alpha} . \tag{3.12}
\end{equation*}
$$

If conditions are handled carefully here, we get

$$
c_{1}=\frac{-1}{\Delta_{m}(\lambda)} \int_{a}^{b} f(t) \ln \theta_{2}(t) d t \text {, and } c_{2}=\frac{1}{\Delta_{m}(\lambda)} \int_{a}^{b} f(t) \ln \theta_{1}(t) d t .
$$

Thus, (3.4) and (3.5) are provided. Now, on the contrary, let's show that when $\phi(x, \lambda)$ is given by (3.1), it satisfies conditions (2.5) and (2.2), (2.3). By (3.5), we get

$$
\phi^{*}(x, \lambda)=\theta_{2}^{*}(x)^{-\int_{a}^{x} \frac{\ln \theta_{1}(t) f(t)}{\Delta_{m}(\lambda)} d t} \theta_{2}(x)^{-\frac{\ln \theta_{1}(x) f(x)}{\Delta_{m}(\lambda)}} \theta_{1}^{*}(x)^{-\int_{x}^{b} \frac{\ln \theta_{2}(t) f(t)}{\Delta_{m}(\lambda)} d t} \theta_{1}(x)^{\frac{\ln \theta_{2}(x) f(x)}{\Delta_{m}(\lambda)}}
$$

If we take *derivative of above equation once again

$$
\begin{align*}
\phi^{* *}(x, \lambda)= & \left.\theta_{2}^{* *}(x)^{-\int_{a}^{x} \frac{\ln \theta_{1}(t) f(t)}{\Delta_{m}(\lambda)} d t}\left(\theta_{2}^{*}(x)^{-\frac{\ln \theta_{1}(x) f(x)}{\Delta_{m}(\lambda)}}\right)^{2} \theta_{2}(x)^{\left(-\frac{\ln \theta_{1}(x) f(x)}{\Delta_{m}(\lambda)}\right.}\right)^{\prime}  \tag{3.13}\\
& \theta_{1}^{* *}(x)^{-\int_{x}^{b} \frac{\ln \theta_{2}(t) f(t)}{\Delta_{m}(\lambda)} d t}\left(\theta_{1}^{*}(x)^{\frac{\ln \theta_{2}(x) f(x)}{\Delta_{m}(\lambda)}}\right)^{2} \theta_{1}(x)^{\left(\frac{\ln \theta_{2}(x) f(x)}{\Delta_{m}(\lambda)}\right)^{\prime}}
\end{align*}
$$

Since $\theta_{1}$ and $\theta_{2}$ are solutions of (2.1), we have

$$
\begin{align*}
& \theta_{1}^{* *}(x)=\theta_{1}(x)^{q(x)-\lambda},  \tag{3.14}\\
& \theta_{2}^{* *}(x)=\theta_{2}(x)^{q(x)-\lambda} . \tag{3.15}
\end{align*}
$$

## Furthermore,

$$
\begin{equation*}
\left(\theta_{2}^{*}(x)^{-\frac{\ln \theta_{1}(x) f(x)}{\Delta_{m}(x)}}\right)^{2}\left(\theta_{1}^{*}(x)^{\frac{\ln \theta_{2}(x) f(x)}{\Delta_{m}(x)}}\right)^{2}=e^{-2 f} \tag{3.16}
\end{equation*}
$$

and

$$
\begin{equation*}
\theta_{2}(x)^{\left(-\frac{\ln \theta_{1}(x) f(x)}{\Delta m(x)}\right)^{\prime}} \theta_{1}(x)^{\left(\frac{\ln \theta_{2}(x) f(x)}{\Delta m(x)}\right)^{\prime}}=e^{f} . \tag{3.17}
\end{equation*}
$$

If the expressions (3.14), (3.15), (3.16) and (3.17) are also taken into account in (3.13), we get

$$
\phi^{* *}(x, \lambda)=\phi(x, \lambda)^{q(x)-\lambda} e^{-f(x)}
$$

This shows that Eq. (2.5) is satisfied. Finally, let's show that conditions are met.

$$
\phi(a, \lambda)^{\cos \alpha} \phi^{*}(a, \lambda)^{\sin \alpha}=\left(\theta_{1}(a)^{\cos \alpha} \theta_{1}^{*}(a)^{\sin \alpha}\right)^{-\int_{a}^{b} \frac{\ln \theta_{2} f}{\Delta m(\lambda)} d t}=1,
$$

and

$$
\phi(b, \lambda)^{\cos \beta} \phi^{*}(b, \lambda)^{\sin \beta}=\left(\theta_{2}(b)^{\cos \beta} \theta_{2}^{*}(b)^{\sin \beta}\right)^{-\int_{a}^{b} \frac{\ln \theta_{1} f}{\Delta m(\lambda)} d t}=1 .
$$

Now, let us prove uniqueness of ${ }^{*}$ Green's function for given problem. Let's face it, there is another ${ }^{*}$ Green's function $\widetilde{G_{m}}(x, t, \lambda)$ for same problem. Then, we get

$$
\phi(x, \lambda)=\int_{a}^{b}\left(G_{m}(x, t, \lambda) \odot e^{f(t)}\right)^{d t}
$$

and

$$
\phi(x, \lambda)=\int_{a}^{b}\left(\widetilde{G_{m}}(x, t, \lambda) \odot e^{f(t)}\right)^{d t}
$$

Thence, we get

$$
\begin{equation*}
\int_{a}^{b} f(t)\left[\ln G_{m}(x, t, \lambda)-\ln \widetilde{G_{m}}(x, t, \lambda)\right] d t=0 \tag{3.18}
\end{equation*}
$$

By setting $f(t)=\overline{\ln G_{m}(x, t, \lambda)-\ln \widetilde{G_{m}}(x, t, \lambda)}$, we get

$$
\int_{a}^{b}\left|\ln G_{m}(x, t, \lambda)-\ln \widetilde{G_{m}}(x, t, \lambda)\right|^{2} d t=0 \Rightarrow G_{m}(x, t, \lambda)=\widetilde{G_{m}}(x, t, \lambda)
$$

It completes the proof.
Theorem 3.2. Let $G_{m}(x, t, \lambda)$ be *Green's function of (2.1)-(2.3) which has below properties.
i. $G_{m}(x, t, \lambda)$ is continuous at $(a, a)$.
ii. $G_{m}(x, t, \lambda)=G_{m}(t, x, \lambda)$.
iii. $G_{m}(x, t, \lambda)$ satisfies Eq. (2.1) and conditions (2.2)-(2.3) for all $t \in \mathbb{R}$ as a function of $x$.
$i v$. Let $\lambda_{0}$ be an eigenvalue of $\Delta_{m}(\lambda)$. Then, $\lambda_{0}$ is simple pole point of $G_{m}(x, t, \lambda)$ and

$$
G_{m}(x, t, \lambda)=\left[\psi_{0}(x)^{-\psi_{0}(t)}\right]^{\frac{1}{\lambda-\lambda_{0}}} \widetilde{G}_{m}(x, t, \lambda)
$$

Here, $\widetilde{G}_{m}(x, t, \lambda)$ is ${ }^{*}$ type holomorfic function of $\lambda$ in the neighbourhood of $\lambda_{0} . \psi$ is normalized eigenfunction related to $\lambda_{0}$.

Proof. $i$. Proof is obtained by continuity of $\theta_{1}(., \lambda)$ and $\theta_{2}(., \lambda)$ for all $\lambda \in \mathbb{R}$.
ii. It will be proved by using notion of *-Green's function. Indeed, the definition yields

$$
G_{m}(x, t, \lambda)=e^{\frac{-1}{\Delta_{m}(\lambda)}} \odot \begin{cases}\theta_{2}(x) \odot \theta_{1}(t), & a \leq t \leq x, \\ \theta_{1}(x) \odot \theta_{2}(t), & x<t \leq b\end{cases}
$$

and

$$
G_{m}(t, x, \lambda)=e^{\frac{-1}{\Delta_{m}(\lambda)}} \odot\left\{\begin{array}{ll}
\theta_{2}(t) \odot \theta_{1}(x), & a \leq x \leq t, \\
\theta_{1}(t) \odot \theta_{2}(x), & t<x \leq b
\end{array} .\right.
$$

If some basic features of multiplicative calculus are used, we conclude that

$$
\ln G_{m}(x, t, \lambda)= \begin{cases}\frac{-\ln \theta_{2}(x)}{\Delta_{m}(\lambda)} \ln \theta_{1}(t), & \ln a \leq \ln t \leq \ln x \\ \frac{-\ln \theta_{2}(t)}{\Delta_{m}(\lambda)} \ln \theta_{1}(x), & \ln x<\ln t \leq \ln b\end{cases}
$$

and

$$
\ln G_{m}(t, x, \lambda)=\left\{\begin{array}{ll}
\frac{-\ln \theta_{1}(x)}{\Delta_{m}(\lambda)} \ln \theta_{2}(t), & \ln a \leq \ln x \leq \ln t \\
\frac{-\ln \theta_{2}(x)}{\Delta_{m}(\lambda)} \ln \theta_{1}(t), & \ln t<\ln x \leq \ln b
\end{array} .\right.
$$

This implies

$$
G_{m}(x, t, \lambda)=G_{m}(t, x, \lambda)
$$

iii. Let $x \in[a, t]$. Then,

$$
G_{m}(x, t, \lambda)=\theta_{2}(x)^{\frac{-\ln \theta_{1}(t)}{\Delta_{m}(\lambda)}} \Rightarrow \mathcal{L} G_{m}(x, t, \lambda)=e^{\lambda} \odot G_{m}(x, t, \lambda)
$$

Similarly, proof can be made for $x \in[t, b]$.

$$
\left[e^{\cos \alpha} \odot G_{m}(a, t, \lambda)\right] \oplus\left[e^{\sin \alpha} \odot G_{m}^{*}(a, t, \lambda)\right]=\left[\theta_{1}(a)^{\cos \alpha} \theta_{1}^{*}(a)^{\sin \alpha}\right]^{\frac{-\ln \theta_{2}(t)}{\Delta_{m}(\lambda)}}=1
$$

and

$$
\left[e^{\cos \beta} \odot G_{m}(b, t, \lambda)\right] \oplus\left[e^{\sin \beta} \odot G_{m}^{*}(b, t, \lambda)\right]=\left[\theta_{2}(b)^{\cos \beta} \theta_{2}^{*}(b)^{\sin \beta}\right]^{\frac{-\ln \theta_{1}(t)}{\Delta_{m}(\lambda)}=}=1
$$

iv. Let $\lambda_{0}$ be pole point of $G_{m}(x, t, \lambda)$ and $R_{m}(x, t)$ be ${ }^{*}$ residue of $G_{m}(x, t, \lambda)$ at $\lambda=\lambda_{0}$. By (2.15), (2.16), we get

$$
R_{m}(x, t)=\lim _{\lambda \rightarrow \lambda_{0}}\left[G_{m}(x, t, \lambda)\right]^{\lambda-\lambda_{0}}=\theta_{1}(x)^{\frac{-\ln \theta_{1}(t)}{c_{1}} \frac{1}{\frac{1}{1}_{c_{1}}^{\int_{a}^{b} \ln ^{2} \theta_{1}\left(x, \lambda, \lambda_{0}\right) d x}}}=\psi_{0}\left(x, \lambda_{0}\right)^{-\psi_{0}\left(t, \lambda_{0}\right)}
$$

It completes the proof.
Example 3.3. Consider ${ }^{*}$ SL-BVP

$$
\begin{equation*}
e^{-1} \odot y^{* *}(x)=e^{\lambda} \odot y, \tag{3.19}
\end{equation*}
$$

with Dirichlet conditions

$$
\begin{aligned}
& L_{1}(y)=y(0)=0, \\
& L_{2}(y)=y(1)=0 .
\end{aligned}
$$

A fundamental set of solutions for (3.19) is

$$
\phi_{1}(x, \lambda)=e^{\cos \sqrt{\lambda} x}, \quad \phi_{2}(x, \lambda)=e^{\sin \sqrt{\lambda} x} .
$$

As known, eigenvalues of (3.19) are zeros of

$$
\Delta_{m}(\lambda)=\left|\begin{array}{ll}
\ln L_{1}\left(\phi_{1}\right) & \ln L_{1}\left(\phi_{2}\right) \\
\ln L_{2}\left(\phi_{1}\right) & \ln L_{2}\left(\phi_{2}\right)
\end{array}\right|=\sin \sqrt{\lambda}=0
$$

Therefore, eigenvalues are zeros of $\sin \sqrt{\lambda}$ as $\lambda_{n}=n^{2} \pi^{2}, n \in \mathbb{N}$. Then, we have

$$
\begin{aligned}
& \theta_{1}(x, \lambda)=e^{-\sin \sqrt{\lambda} x} \\
& \theta_{2}(x, \lambda)=e^{\cos \sqrt{\lambda} x \sin \sqrt{\lambda}-\sin \sqrt{\lambda} x \cos \sqrt{\lambda}} .
\end{aligned}
$$

So, *Green's function is

$$
G_{m}(x, t, \lambda)=e^{\frac{-1}{\sin \lambda}} \odot\left\{\begin{array}{ll}
e^{\cos \sqrt{\lambda} x \sin \sqrt{\lambda}-\sin \sqrt{\lambda} x \cos \sqrt{\lambda}} \odot \sin \sqrt{\lambda} t & 0 \leq t \leq x \\
\sin \sqrt{\lambda} x \odot e^{\cos \sqrt{\lambda} t \sin \sqrt{\lambda}-\sin \sqrt{\lambda} t \cos \sqrt{\lambda}} & x<t \leq 1
\end{array} .\right.
$$

Example 3.4. Now let's examine Eq. (3.19) with *Neumann conditions

$$
\begin{aligned}
& L_{1}(y)=y^{*}(0)=0, \\
& L_{2}(y)=y^{*}(1)=0 .
\end{aligned}
$$

A fundamental set of solutions for (3.19) are

$$
\phi_{1}(x, \lambda)=e^{\cos \sqrt{\lambda} x}, \quad \phi_{2}(x, \lambda)=e^{\sin \sqrt{\lambda} x} .
$$

Eigenvalues of (3.19) are zeros of

$$
\Delta_{m}(\lambda)=\left|\begin{array}{cc}
\ln (1) & \ln \left(e^{\sqrt{\lambda}}\right) \\
\ln \left(e^{-\sqrt{\lambda} \sin \sqrt{\lambda}}\right) & \ln \left(e^{\sqrt{\lambda} \cos \sqrt{\lambda}}\right)
\end{array}\right|=\sqrt{\lambda} \sin \sqrt{\lambda},
$$

as $\lambda_{n}=n^{2} \pi^{2}, n \in \mathbb{N}$. Then, ${ }^{*}$ Green's function is

$$
G_{m}(x, t, \lambda)= \begin{cases}\theta_{2}(x)^{-\frac{\ln \theta_{1}(t)}{\Delta_{m}(\lambda)}}, & 0 \leq t \leq x \\ \theta_{1}(x)^{-\frac{\ln \theta_{2}(t)}{\Delta_{m}(\lambda)}}, & x<t \leq 1\end{cases}
$$

where

$$
\begin{aligned}
& \theta_{1}(x, \lambda)=e^{\sqrt{\lambda} \cos \sqrt{\lambda} x-\sin \sqrt{\lambda} x} \\
& \theta_{2}(x, \lambda)=e^{\sqrt{\lambda}(\cos \sqrt{\lambda} \cos \sqrt{\lambda} x+\sin \sqrt{\lambda} x \sin \sqrt{\lambda})}
\end{aligned}
$$

Example 3.5. Let's examine Eq. (3.19) with *Robin conditions

$$
\begin{aligned}
& L_{1}(y)=y(0)=0 \\
& L_{2}(y)=y(1) y^{*}(1)=0
\end{aligned}
$$

For this problem, basic set of solutions are

$$
\phi_{1}(x, \lambda)=e^{\cos \sqrt{\lambda} x}, \quad \phi_{2}(x, \lambda)=e^{\sin \sqrt{\lambda} x} .
$$

Then, eigenvalues of (3.19) are the zeros of

$$
\Delta_{m}(\lambda)=\left|\begin{array}{cc}
1 & 0 \\
\cos \sqrt{\lambda}-\sqrt{\lambda} \sin \sqrt{\lambda} & \cos \sqrt{\lambda}+\sqrt{\lambda} \sin \sqrt{\lambda}
\end{array}\right|=\sin \sqrt{\lambda}+\sqrt{\lambda} \cos \sqrt{\lambda}
$$

Then, *Green's function is

$$
G_{m}(x, t, \lambda)=\left\{\begin{array}{cl}
\theta_{2}(x)^{\frac{\sin \sqrt{\lambda} t}{\sin \sqrt{\lambda}+\sqrt{\lambda} \cos \sqrt{\lambda}},} & 0 \leq t \leq x \\
e^{\frac{\sin \sqrt{x} x \sin \theta^{\prime}(t)}{\sin \sqrt{\lambda}+\sqrt{\lambda} \cos \sqrt{\lambda}}}, & x<t \leq 1
\end{array}\right.
$$

where

$$
\begin{aligned}
& \theta_{1}(x, \lambda)=e^{-\sin \sqrt{\lambda} x}, \\
& \theta_{2}(x, \lambda)=e^{(\sin \sqrt{\lambda} \cos \sqrt{\lambda} x-\cos \sqrt{\lambda} \sin \sqrt{\lambda} x)+\sqrt{\lambda}(\cos \sqrt{\lambda} x \cos \sqrt{\lambda} x+\sin \sqrt{\lambda} x \sin \sqrt{\lambda})} .
\end{aligned}
$$

## 4. Conclusion

In this study, nonhomogeneous SL problem is defined in *case. Then, important spectral properties of homogeneous *problem were examined. In last part, *Green's function is created for nonhomogeneous problem. Some indispensable properties of this function have been given and proven. The relevant nonhomogeneous problem was examined in *case with help of this function. Green's function in *spectral theory is defined for the first time with this study. It will provide an important convenience to mathematicians who will work in this field and will accelerate the work in spectral theory in *case. In classical case, provision of many properties of this function in *calculus shows that many concepts and theorems in spectral theory can be defined in *calculus and very important results can be obtained. This shows that *calculus will be effective in many areas of mathematical calculus as in many fields and will lead to important results from different angles.

## References

[1] C. D. Ahlbrandt, A. C. Peterson, Discrete Hamiltonian Systems, Difference Equations, Continued Fractions, and Riccati Equations, Springer, Boston, MA, 1996.
[2] B. P. Allahverdiyev, H. Tuna, One-dimensional conformable fractional Dirac system, Boletin de la Sociedad Matematica Mexicana 26 (1) (2020) 121-146
[3] R. Amirov, I. Adalar , Eigenvalues of Sturm-Liouville operators and prime numbers, Electronic Journal of Differential Equations 50 (2017) 1-3.
[4] E. Bairamov, Y. Aygar and G. B. Oznur, Scattering Properties of Eigenparameter-Dependent Impulsive Sturm-Liouville Equations, Bulletin of the Malaysian Mathematical Sciences Society 43(3) (2020) 2769-2781.
[5] A. E. Bashirov, E. M. Kurpınar, A. Özyapıcı, Multiplicative calculus and its applications, Journal of Mathematical Analysis and Applications 337(1) (2008) 36-48 .
[6] A. E. Bashirov, M. Riza, On complex multiplicative differentiation, TWMS Journal on Applied and Engineering Mathematics 1(1) (2011) 75-85.
[7] A. E. Bashirov, E. Mısırlı, Y. Tandogdu, A. Özyapıcı, On modeling with multiplicative differential equations, Applied MathematicsA Journal of Chinese Universities 26(4) (2011) 425-438.
[8] F. Benford, The Law of anomalous numbers, Proceedings of the American Philosophical Society 78(4) (1938) 551-572.
[9] K. Boruah, B. Hazarika, G-Calculus, TWMS Journal of Applied and Engineering Mathematics 8(1) (2018) 94-105.
[10] A. Cabada, Green's Functions in the Theory of Ordinary Differential Equations, Springer-Verlag, New York, 2014.
[11] T. Došenović, M. Postolache, S. Radenović, On multiplicative metric spaces: survey, Fixed Point Theory and Applications 2016(1) (2016) 1-17.
[12] D. G. Duffy, Green's Functions with Applications, Chapman and Hall/CRC; 1st edition (May 31, 2001).
[13] L. Florack, Hv. Assen, Multiplicative Calculus in Biomedical Image Analysis, Journal of Mathematical Imaging and Vision 42(1) (2012) 64-75.
[14] G. Freiling, V. Yurko, Inverse Sturm-Liouville Problems and Their Applications, New York:NOVA Science Publishers, 2001.
[15] S. Goktas, A New Type of Sturm-Liouville Equation in the Non-Newtonian Calculus, Journal of Function Spaces 2021(Article ID 5203939) (2021) 1-8.
[16] M. Grossman, An introduction to Non-Newtonian calculus, International Journal of Mathematical Education in Science and Technology 10(4) (1979) 525-528.
[17] M. Grossman, R. Katz, Non-Newtonian calculus, Lee Press, Pigeon Cove, MA, 1972.
[18] U. Kadak, Y. Gurefe, A generalization on weighted means and convex functions with respect to the Non-Newtonian calculus, International Journal of Analysis, Article ID 5416751, (2016).
[19] H. Koyunbakan, S. Mosazadeh, Inverse nodal problem for discontinuous Sturm-Liouville operator by new Prüfer Substitutions, Mathematical Sciences 15(4) (2021) 387-394.
[20] Y. A. Kucukevcilioglu, E. Bairamov, G. G. Ozbey, On the spectral and scattering properties of eigenparameter dependent discrete impulsive Sturm-Liouville equations, Turkish Journal of Mathematics 45(2) (2021) 988-1000.
[21] B. M. Levitan, Inverse Sturm-Liouville problems, Netherland VNU Science Press, 1987.
[22] V. A. Marchenko, Sturm-Liouville operators and applications, AMS Chelsea Publishing, 2011.
[23] L. Sbailò, F. Noé, An efficient multi-scale Green's function reaction dynamics scheme, The Journal of chemical physics 147(18) (2017) 184106.
[24] I. Stakgold, M. Holst, Green's Functions and Boundary Value Problems, John Wiley \& Sons, 2011.
[25] A. Slavík, Product Integration, Its History and Applications, Matfyzpress, Prague, 2007.
[26] D. Stanley, A multiplicative calculus, Primus 9(4) (1999) 310-326.
[27] D. Xie, Y. Liu, C. Bai, Green's function and positive solutions of a singular n-th order three-point boundary value problem on time scales, Electronic Journal of Qualitative Theory of Differential Equations 2009(38) (2009) 1-14.
[28] E. Yilmaz, Multiplicative Bessel equation and its spectral properties, Ricerche di Matematica, (2021), https://doi.org/10.1007/s11587-021-00674-1.
[29] A. Zettl, Sturm-Liouville Theory, American Mathematical Soc., 2012.


[^0]:    2020 Mathematics Subject Classification. 11D57, 15A18, 34B09, 34B24, 34B27, 34L10.
    Keywords. Multiplicative calculus; Green's function; multiplicative Sturm-Liouville equation; eigenfunction; Eeigenvalue; Wronskian; Boundary value problem.

    Received: 22 March 2022; Accepted: 16 June 2022
    Communicated by Dragan S. Djordjević
    Email addresses: emrah231983@gmail.com (Emrah Yilmaz), tubagulsen87@hotmail.com (Tuba Gulsen), srtcgoktas@gmail.com (Sertac Goktas)

